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TR 12 4 2,403 1,163 1,240 9,517 11,281 A1,764 6.401 A9.10] A2.70
Rk 13 & 2,226 1, 199 1,027 9,537 10,996 Al, 459 5.35 AT.60] AZ2.25
TRk 14 4 2, 160 1, 228 932 9,633] 10, 345 AT12 4.86] A3.72 1. 15
Rk 15 & 2,110 1, 197 913 10,413 10,374 39 4.76 0.20 4. 96
TRk 16 4 2,074 1, 244 830 9,370 9, 645 N275 4.30] A1.43 2.88
R 17 & 2,012 1, 295 717 8, 980 9,476 A\496 3.71 A2.57 1. 14
TRk 18 4 1,951 1,314 637 9,272 9,472 A 200 3.31] A1.04 2.27
R 19 & 2, 065 1, 409 656 9, 634 8,776 858 3. 40 4. 45 7.85
TRk 2 0 4 2, 065 1, 440 625 9, 253 9, 141 112 3. 21 0. 58 3.79
R 21 & 2,009 1, 483 526 9, 084 8, 922 162 2.69 0. 83 3.52
TRk 2 2 4 2, 083 1, 447 636 8,070 8,471 A401 3.25] A2.05 1.20
Rk 2 3 & 1, 981 1, 488 493 9, 059 8, 635 424 2.51 2.16 4.67
TRk 2 4 H 1,914 1, 557 357 8,272 8, 251 21 1. 82 0.11 1.93
1H 184 171 13 514 475 39 0.78 2.33 3. 11
2 H 163 142 21 504 618 A114 1.39 AT7.54] A6.15
3H 155 134 21 1, 207 1, 466 259 1.26] A15.49] A14.24
4 H 142 113 29 1, 249 933 316 1.79 19. 50 21.29
5H 191 110 81 681 559 122 4.83 7.28 12. 11
6 H 159 130 29 464 573 A109 .79 A6.72] A4.93
7H 141 119 22 783 690 93 1.31 5.55 6. 86
8 H 156 124 32 618 635 A1T 1.91 A1.01 0.89
9H 143 101 42 504 594 90 2.59] Ab.bB5  A2.96
10H 185 149 36 650 600 50 2.15 2.98 5.13
11H 142 130 12 540 505 35 0.74 2.16 2.89
124 153 134 19 558 603 A45 1.13] A2.68] Al.55
Rk 2 5 & 1,916 1, 587 329 8, 394 8, 543 A149 1.66] AO0.75 0.91
1H 171 167 4 496 503 AT 0.24] AO0.42] AO0.18
2 H 143 144 VAN 572 467 105 -0.07 6.93 6. 86
3 H 150 120 30 1, 181 1,654 VAVYR] 1. 791 A28.25] A26.46
4 H 163 141 22 1, 340 1,022 318 1. 36 19. 59 20. 95
5H 174 120 54 578 499 79 3. 22 4.71 7.92
6 H 139 97 42 494 525 A31 2.59 Al.91 0. 68
7H 180 111 69 955 700 255 4.10 15. 17 19. 27
8 H 158 141 17 540 608 A\68 1.01] A4.05] A3.03
9 H 160 131 29 480 788 /A\308 1.79] A18.96] A17.18
104 179 139 40 539 592 Ab3 2.38| A3.16] AO0.77
11H 152 145 7 615 530 85 0.43 5.23 5. 66
124 147 131 16 604 655 Ab1 0.95 A3.04] AZ2.08
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